AC
Decimal Fractions- tenths A
3.7+ [ =8.9 AA
We are learning to reverse add mentally the ones and tenths Ay
separately when appropriate.
AP
Jane works out 3.8 + [ = 8.9 this way:
38+02=4,4+49=89,02+49=51
Joel works out 3.8 + [ = 8.9 this way:
3+5=8,0.8+0.1=0.9, so the answer is 5.1.
Why is Joel's method better?
Exercise 1l
What to do
1) Use the strategy of reverse adding mentally the ones and tenths separately

(Joel's method) when appropriate to find the number that goes in the box.
2) Do the problems in your head first
3) Check you are right by writing them down. Show them like the examples

above.
1) 45+0=86 (20 12+0=99 (3 40+0=76
4 29+0=89 (5 31+0=54 (6) 28+0=88
70  56+0=96 (8 11+0=77
Exercise 2
What to do
1) Use the strategy of reverse adding mentally the ones and tenths separately

(Joel's method) when appropriate to find the number that goes in the box.
2) Do the problems in your head first
3) Check you are right by writing them down. Show them like the examples

above.
1) O+54=84 (2 O0+43=95 3 O0+25=88
4) O+22=84 (5) O0+82=99 (6) O+32=95

7 DO+13=97 8 [O+46=99



Exercise 3

What to do
1) Use the strategy of reverse adding mentally the ones and tenths separately
(Joel's method) when appropriate to find the number that goes in the box.
2) Do the problems in your head first
3) Check you are right by writing them down. Show them like the examples

above.
1) O-43=34 (20 O-36=12 (3 O-15=82
4) O-44=84 (5 [O-32=40 (6) O-28=11
Exercise4
What to do

1) Use the strategy of reverse adding mentally the ones and tenths separately
(Joel's method) when appropriate to find the number that goes in the box.

2) Do the problems in your head first

3) Check you are right by writing them down. Show them like the examples

above.
1) 445+ [ =45.6 2 81.2+[0=829 (©)) 13.1+0=254
4) 25.6+[1=39.6 5 629+ [1=68.9 (6) 1.1+0=277

7)  4444+0=5555 (8) 60.6+ =808



Decimal Fractions— Tenths
3.7+[1=8.9
Answers

Why is Joel's method better?
Uses fewer steps. No need to jump to a tidy number as all of the digits in the first
number are smaller than the corresponding digits in the second number.

Exercise 1

1) 41 (2) 87 () 36
4) 6 (5) 23 6 6

7 4 (8) 6.6

Exercise 2

1) 3 (2) 52 3 63
4) 6.2 G) 17 (6) 6.3
7) 84 (8 53

Exercise 3

1) 7.7 (2) 48 ) 97
4) 128 (5 7.2 (6) 39
Exercise4

1) 1.1 2 17 () 123
4) 14 (59 6 (6) 266

7 1111 (8) 202



